120

0Z0p

€206
00'/8

€C'SL

€T’y

oo'sy
00'0€

006

00'€S

00'zz

00'16

00'SY

%290 = !

wez'o9 =1

w0o0‘LL

1

T

%0€'0 = !

—

%00 = !

wQo0'z9 =1

woo'lel =1

S0'8L1
oL'gLl

S0'8lL 1

€08l

0'8L)

90’8l

S0'8lL1
10811
Slgll

€egll
ve'8ll
zr'8ll

0e'8lLl

61811

8z'8ll

LE'8LL

vz'ell

Asel) [auemopyaloid 03juoy
BM3| ]S - BIUSZOMZ X 8}BZ00d

emeld '1js - BIUSZAMZ ¥3)BZ00d

000

90'0+

TL 98 UP *
6gip 183D,

L0+

H smomiey [ezipuy "zu JBw

‘Hzpeziodg

[NSMONBMON ZSnuer “zul 16w
oy

NI 53670tk | ooovioos: eiers

J

L

L B2 - ANZN300d 11408d

» [C

A % nzsid m eBnig | moJsiuold Balin

120+ L:-

Sl'0+

LE'0+




